
anshad
Text Box
ANNEX#1A-PR#50444



C
ER

T.
AP

PD
.

WASHER NUT PAL
40 31 9 5 - 9 4 15 5 7  - 11
45 31 14 10 - 14 4 15 5 7  - 11
50 31 19 15 - 19 4 15 5 7  - 11
55 31 24 20 - 24 4 15 5 7  - 11
60 31 29 25 - 29 4 15 5 7  - 11
65 31 34 30 - 34 4 15 5 7  - 11
70 31 39 35 - 39 4 15 5 7  - 11
75 31 44 40 - 44 4 15 5 7  - 11
80 31 49 45 - 49 4 15 5 7  - 11
85 31 54 50 - 54 4 15 5 7  - 11
90 31 59 55 - 59 4 15 5 7  - 11
95 31 64 60 - 64 4 15 5 7  - 11

100 31 69 65 - 69 4 15 5 7  - 11
50 36 14 10 - 14 4 18 6 8  - 12
55 36 19 15 - 19 4 18 6 8  - 12
60 36 24 20 - 24 4 18 6 8  - 12
65 36 29 25 - 29 4 18 6 8  - 12
70 36 34 30 - 34 4 18 6 8  - 12
75 36 39 35 - 39 4 18 6 8  - 12
80 36 44 40 - 44 4 18 6 8  - 12
85 36 49 45 - 49 4 18 6 8  - 12
90 36 54 50 - 54 4 18 6 8  - 12
95 36 59 55 - 59 4 18 6 8  - 12

N
O

.

00 100 36 64 60 - 64 4 18 6 8  - 12
105 36 69 65 - 69 4 18 6 8  - 12
110 36 74 70 - 74 4 18 6 8  - 12

BY 115 36 79 75 - 79 4 18 6 8  - 12
120 36 84 80 - 84 4 18 6 8  - 12
125 36 89 85 - 89 4 18 6 8  - 12
50 41 9 5 - 9 4 21 7 9  - 13
55 41 14 10 - 14 4 21 7 9  - 13
60 41 19 15 - 19 4 21 7 9  - 13
65 41 24 20 - 24 4 21 7 9  - 13
70 41 29 25 - 29 4 21 7 9  - 13
75 41 34 30 - 34 4 21 7 9  - 13
80 41 39 35 - 39 4 21 7 9  - 13
85 41 44 40 - 44 4 21 7 9  - 13
90 41 49 45 - 49 4 21 7 9  - 13

DATE :

INDEX PLANT NO. REV. NO.

DATE

SAUDI ARABIA

BOLTS GRIP CHART FOR M16, M20 & M24

380kV OHTL BETWEEN SHEDGUM-2 380/115kV BSP AND ENERGY 
INDUSTRIAL CITY (EIC) 380/115kV BSP

DRAWING TITLETHIS DRAWING IS 
NOT BE USED FOR  

CONSTRUCTION 
OF  FOR  

ORDERING  
MATERIAL UNTIL 
CERTIFIED AND 

DATED

BY W
ae

l

OPRG. DEPT.

DATE April 2020

BY A.Ashery

CERTIFIED

BY

SIZE OF
BOLT

L LT L S ALLOWABLE
CLAMPING

THICKNESS EXT. REMAR
KS

M16

M20

M24

* LENGTH TABLE OF THE BOLT

 SHEET EE-600832

DRAWING NO. SHEET NO.

A HA322 EE-601070 02 OF 02 00

CONTRACT NO. 4400011875ABQAIQ JOB ORDER NO. 3-1813001.04

AS BUILT  BY NCC 30-04-2020 DRAWING CONTROL

Is
su

ed
 F

or
 A

pp
ro

va
l

REVISIONS

DRAWN

Wael

D
AT

E

30
-0

4-
20

20

CHECKED

DATE April 2020

BY

DATE

ENG'G. DEPT.

BY

DATE

C
H

KD
.

A.
As

he
ry

D
ES

C
R

IP
TI

O
N

anshad
Text Box
ANNEX#1B-PR#50444


	AL GIHAS drw
	M16_ANTI THEFT BOLTS_REV1ncc dhuba.pdf
	AL GIHAS-2020.pdf
	DRAWINGS.pdf
	DRAWINGS.pdf
	ANNEX#1-PR#33680.pdf
	M16 BOLT.pdf
	M20 BOLT.pdf
	M24 BOLT.pdf
	WASHER.pdf
	PALNUT.pdf

	Untitled.pdf
	STEPBOLTS.pdf
	M20x190 STEPBOLT.pdf
	M20x250 STEPBOLT.pdf

	ANTI.pdf

	bolt table.pdf
	KT305_Bolt Table(JIS).pdf
	KT305_Bolt Table(JIS)-2.pdf
	KT305_Bolt Table(JIS)-3.pdf
	KT305_Bolt Table(JIS)-4.pdf
	KT305_Bolt Table(JIS)-5.pdf


	STEP BOLT.pdf
	M16_BOLT CHART_REV1-ncc dhuba.pdf

	ANNEX#3-PR-50444(ANTI THEFT M16
	NPCC STEPBOLT



